
CIRCUITO 2

CIRCUITO �
S = 3x(1x630) mm2

L=1.040 m; I=116 A

WTG06

TSA

L=150 m; I=699 A

MisureEvacuazione

Nuova Stazione
Elettrica 220/150/36 kV

TERNA

Cella 1 BESSCella 2

CABINA 'I C2NSEGNA

S = 3x(2x630) mm2

WTG05WTG04

WTG03WTG02WTG01

S = 3x(1x630) mm2

L=1.930 m; I=116 A

S = 3x(1x630) mm2

L=1.000 m; I=233 A

S = 3x(1x630) mm2

L=19.110 m; I=349 A

RS

S = 3x(1x630) mm2

L=1.310 m; I=233 A

S = 3x(1x630) mm2

L=21.240 m; I=349 A

BESS.1

S = 3x(1x150) mm2

L=20 m; I=212 A

BESS.2

S = 3x(1x150) mm2

L=15 m; I=106 ACIRCUITO �
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